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& Az & 4 ouT IN [TOTAL NET
B R | TN EEERS | 35 | 39 | 74 65
HEB B =B R 38 | 37 | 75 66
3 fir R BE 41 | 37 78 67
4 fif BE 40 | 40 80 67
5 fir KEH 38 | 38 | 76 68
B-G | MW HEES | 35 | 39 | 74
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& Az & 4 ouT IN [TOTAL NET
B B = H IEJR 36 | 38 | 74 66
HERR A FIH 40 | 40 | 80 69
3 fir Fi ] $hRR 39 | 35 | 74 71
4 fif /N TR 39 | 40 79 71
5 fi Bl FE— 39 | 41 80 71
B-:G Tk AR— 35 | 39 | 74
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& Az & 4 ouT IN [TOTAL| HDCP NET
# B T Fn=e 40 | 47 | 87 27 60
HEQE BA 39 | 46 | 85 | 23 62
3 fr BT 45 | 41 | 86 20 66
4 {ir HW EE 42 | 44 | 86 18 68
5 fir PE T 43 | 44 | 87 19 68
B-G wH = 42 | 43 85
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& Az & 4 ouT IN [TOTAL| HDCP NET
E B FA i) A 39 | 40 | 79 | 22 57
HEE S HiE IETR 45 | 42 | 87 25 62
3 fi #%EEM 13 48 | 45 | 93 28 65
4 fr 0 IE— 45 | 50 | 95 30 65
5 fir R 20 43 | 40 | 83 16 67
B-G FH [ A8t 39 | 40 79
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